
ASSEMBLY 
GUIDE
DESKING — CO.STORIES



A S S E M B L Y  G U I D E —  2

Co.Stories

page 11www.racksystems.co.uk

Assembly Instructions

Note orientation 
of rail

Spigot

B

D

A

C

Leg assembly Rail Bung & foot M6 x 15 bolt

Pcs A B C D

Qty 4 4 4 16

page 11www.racksystems.co.uk

Assembly Instructions

page 11www.racksystems.co.uk

Assembly Instructions

page 11www.racksystems.co.uk

Assembly Instructions

page 11www.racksystems.co.uk

Assembly Instructions

tool required

4mm
allen key 

thank you for your purchase!This page lists the contents included in the box.  Please take time to identify the hardware as well as the individual components of the product. As you unpack and prepare for assembly, place the contents on a carpeted or padded area to protect them from damage. Please follow the assembly instructions closely. Improper assembly can result in personal or property damage.  2 adults are required to safely assemble this product.

!

airfoil G28T TABLE / 160cm, 180cm, 200cm

cleaning and care
•  Clean surfaces with a dry or damp soft cloth. 
•  Use water-based cleaning agents only.  Do not 
    use oil or solvent based cleaners.•  It is recommended to use coasters to protect   
   surface from heat and water. Do not leave spills       
   unattended.•  Periodically check and tighten hardware as        
   necessary.

Made in China - r01

1/2

www.madfurnituredesign.com

x 01

x 04

x 01

x 22

hardware
components

• Insert foot & bung into leg assembly
• Place leg assembly upside down on fl oor
• Noting orientation insert rails on spigots
• Fix in place using M6 x 15 bolts
• Fix assembled frame onto desktop to complete



A S S E M B L Y  G U I D E —  3

Co.Stories 

Leg assembly Rail In-line leg Triangulation 
bracket Bung & foot M6 x 15 bolt

Pcs A B C D E F

Qty 4 6 2 2 6 22

page 11www.racksystems.co.uk

Assembly Instructions

page 12www.racksystems.co.uk

Assembly Instructions

page 12www.racksystems.co.uk

Assembly Instructions

page 11www.racksystems.co.uk

Assembly Instructions

page 11www.racksystems.co.uk

Assembly Instructions

tool required

4mm
allen key 

thank you for your purchase!This page lists the contents included in the box.  Please take time to identify the hardware as well as the individual components of the product. As you unpack and prepare for assembly, place the contents on a carpeted or padded area to protect them from damage. Please follow the assembly instructions closely. Improper assembly can result in personal or property damage.  2 adults are required to safely assemble this product.

!

airfoil G28T TABLE / 160cm, 180cm, 200cm

cleaning and care
•  Clean surfaces with a dry or damp soft cloth. 
•  Use water-based cleaning agents only.  Do not 
    use oil or solvent based cleaners.•  It is recommended to use coasters to protect   
   surface from heat and water. Do not leave spills       
   unattended.•  Periodically check and tighten hardware as        
   necessary.

Made in China - r01

1/2

www.madfurnituredesign.com

x 01

x 04

x 01

x 22

hardware
components

page 12www.racksystems.co.uk

Assembly Instructions

Note orientation 
of rail

Note 
orientation 
of railSpigot

Note 
orientation 
of leg

D

BC

F

A

E

page 11www.racksystems.co.uk

Assembly Instructions

- With intermediate leg

• Insert foot & bung into leg assembly
• Place leg assembly upside down on fl oor
• Noting orientation insert rails on spigots
• Fix in place using M6 x 15 bolts
• Fix assembled frame onto desktop to complete



SHOWROOM
–
Parchment House  
13 Northburgh Street 
London EC1V 0JP

CONTACT
–
info@workstories.com  
+44 (0)20 3735 5224 
workstories.com


